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X 6 3 7 3 9 4

Y: 16 9 17 12 22 13
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6. You're a time study analyst in manufacturing. You've recorded the following task times (min.): 4.1, 3.9, 3.8, 4.5,
4.6 (x =4.18and s = 0.36 ). If we known the data from normal distribution ando = 0.6, what is the 90%
confidence interval estimate of the population mean task time? (FH=FBI®)) (10 43)

7. Find the approximate sample size required to conduct a 95% confidence interval for p (Population proportion) that
has sampling error 0.10 in each case. (a). Assume p is near 0.4. (b). Assume you have no prior knowledge about p,
but you wish to be certain that your sample is large enough to achieve the specific accuracy for the estimate. (£ 5

73)
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8. A government agency conducts a study on the performance of two makes of cars in a similar price range, Accord
and Honda. Random samples of 25 cars of each make were obtained and the miles per gallon (mpg) for each car

was observed with the following results:

Accord: Sample mean=28.5, sample standard deviation=1.6
Honda: Sample mean=24.0, sample standard deviation=1.0

The government agency announced plans to purchase a fleet of one of these types of cars if they are 98%
confidence that its mean mpg is at least 4 above that of the other type of car. Otherwise the government agency will
conduct further analysis and study. Based on the right statistical analysis we obtained the interval (3.25, 5.75), what

should the government agency do? (10 43-)

9. A study was performed to see if stress therapy seemed to benefit individuals. Measurements were made by obtaining

scores on a stress test taken on 8 subjects before and after therapy. The results were:

Pretest: ¥, =29, s{ =3

Posttest: X, =31, 52 =5

The value t=3.125 was reported as the test statistics and it’s p-values was said to be significant. Is this given test
statistics a two independent sample t-statistics (Assume the data from normal distributions and 0'12 = 0'22 y? (543)

Show why or why not. (343) Shoulditbe? (243)

10. Five types of cloth for making sails were examined for strength by the team of “Stars and Stripes”. Four pieces of
each type of cloth were measured for “pounds of pressure withstood before tearing”. The following completely

randomized analysis of variance resulted:

Source of Variation d.f. SS MS F
Treatment {type of 4 520

cloth

Error 20

Total 19 820

(a) Complete the ANOVA Table. (b) What assumption must be made about the sampled distributions for this type
of analysis to be valid? (£ 5 43)




